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Aufgaben-Quickname: 2570

Aufgabe 1

Welche Strecke gehort an die Stelle mit dem Fragezeichen?

? —
a) A’ [ATB7] = 1ZB]
Mogliche Antworten:

|AB|, |AA'], |ZA|

/

|AB| ?

[ATB7] — [ZA7|

|ZA|, |ZB], |[AA']
? _ |ZB|
[AAT] = ZA|

Mogliche Antworten:

|ZA"), |A'B'|, |BB'|
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Mogliche Antworten:
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Mogliche Antworten:

|[AA"], |ZA'], |AB|

Aufgabe 2
Welche Strecke gehort an die Stelle mit dem Fragezeichen?

|A'B’| _ |zA|
a) [AB] — 7
A7
|[ZA] ?
c) B [ZAT| = ZB]

Z
Aufgabe 3
Welche Strecke gehort an die Stelle mit dem Fragezeichen?

a) [ 451 — ‘|ZZI]33’I\| b) A2 A

Mogliche Antworten:

|ZA’|, |AA'|, |AB]
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Mogliche Antworten:

|ZB|, |AA"], |ZA]
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Mogliche Antworten: Mogliche Antworten:

|AA"|, |AB|, |ZB'| |ZB|, |ZB'|, |AB|

Aufgabe 4
Welche Strecke gehort an die Stelle mit dem Fragezeichen?
|ZA| _ |ZB| |[AA"| _ 2
a) 7 7 = 125 b) B’ B[ = TZB]
Mogliche Antworten: Mogliche Antworten:
AA B A
B |A'B'|, |ZA'|, |AB| |A"B’|, |[AB|, | ZA]
A
B'/
7
|ZA] _ ?
c) AN AV ZA'] = TZB]
A Mogliche Antworten:

|A’B'|, |AB|, |ZB|

Mogliche Antworten:

|[AA"], |ZA], |AB|

Viel Erfolg!
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